
Optične komunikacije

Predavanje 3:

Popolni odboj v 
dielektričnem valovodu



Γ zrak (n1≈1)→ steklo(n2≈1.5)
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Neferomagnetiki μr1=μr2=1

n1=√ϵr1≈√1=1

n2=√ϵr2≈√2.25=1.5
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(Radijske frekvence f ≈1GHz)



VP=TM

HP=TE

ϵr=10− j10

ϵr=10− j10

ϵr=10− j1

ϵr=10− j1ϵr=10

ϵr=10

ϵ
r =10−

j3

ϵ r=
10− j3

Zrak (ϵr≈1)→



Θ=0

ΓTE=
n1−n2
n1+n2

=−ΓTM
n2

n1

Γ=∣n1−n2n1+n2∣
PO=PV

∣Γ2∣

Θ=0

n2
n1 n1

Γ −Γ

d=?

d=?

ϕ=2 d k 2=m 2π

2d=mλ2 k 2=
2π
λ2

λ2=
λ0
n2
=
λ0
√ϵr

Prozoren pokrov
za anteno



Θ=0

n2n1
n3

Γ Γ

d=?

Antirefleksni
sloj

n3=√n1n2

ϕ=2 d k 2=π+m2π

2d=λ3/2+mλ3

d=λ3/4+mλ3/2

d=λ3/4

Zrak n1≈1

Steklo n2≈1.5

Antirefleksni
sloj

MgF 2 n3≈1.37

√1.5≈1.23

Steklo
n2≈1.5

MgF 2

n3≈1.37

MgF 2

n3≈1.37

λ0≈0.5μm≡vidna svetloba

λ3≈0.4μm

d=λ3/4≈0.1μm

Steklo
n2≈1.5



Re [Γ] steklo (n2≈1.5)→ zrak (n1≈1)
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steklo SiO2

SiO2+GeO2

n2≈1.463 n1≈1.473

Majhna razlika n→šibkolomnovlakno(valovod )
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≈740 kbit / s
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